Q.1 Which technique of Scientific Management violates Fayol's principle of Equity?
1. Standardization of work
2. Motion Study
3. Differential Piece wage System

4. Mental Revolution
Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615749
Option 11D : 63238662993
Option 2 ID : 63238662994
Option 31D : 63238662995
Option 4 1D : 63238662996

Status : Answered

Chosen Option : 3

Q.2 Identify the Non Financial Incentive that give more autonomy and powers to subordinates
1. Employee participation
2. Employee Empowerment
3. Organisational climate

4. Co-partnership
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615755
Option 11D : 63238663017
Option 2 1D : 63238663018
Option 31D : 63238663019
Option 4 ID : 63238663020

Status : Answered

Chosen Option : 2




Q3 Select from following who is considered Risk taker
1. Manager
2. Customer
3. Entrepreneur

4. Government
Options 1. 1
2.2
3.3
4.4

Question Type :
: 63238615787
: 63238663145
: 63238663146
: 63238663147
1 63238663148

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status:

Chosen Option :

MCQ

Answered
3




Q4 Match List I with List IT

LISTI LISTII
A [Treasury Bill I [Mobilise large amount of money
B Remeaatis i ?é:-?my period of one day to fifteen
. leatrishey L Maturity period of 15 davs to one
vear
D. Igemﬁ.ca‘e o IV. [[ssued by RBI
eposit

Choose the correct answer from the options given below:
1. A-IIL, B-I, C-II, D-IV
2. A-IL, B-IIL, C-IV, D-I
3. A-IV, B-1II, C-II, D-I
4. A-IV, B-III, C-I, D-II
Options 1. 1
2.2

3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615752
63238663005
63238663006
63238663007
63238663008
Answered

3




Q5 Capital structure should emphasize on:-
1. Increasing the turnover of firm
2. Increasing the assets and liabilities of firm
3. Increasing the shareholders wealth

4. Increasing voting right of shareholders

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615773
Option 1 1D : 63238663089
Option 2 ID : 63238663090
Option 3 ID : 63238663091
Option 4 ID : 63238663092
Status : Answered
Chosen Option : 3
Q.6 Planning is pervasive because:-
1. It 1s required in setting special goals
2. It is required at all levels of management
3. It 1s forward looking and backward looking
4. It lays down the base for other functions of management
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615766
Option 1 1D : 63238663061
Option 2 ID : 63238663062
Option 3 ID : 63238663063
Option 4 ID : 63238663064
Status : Answered
Chosen Option: 2




Q7 Staffing is the part of which functional area of Management ?
1. Marketing Management
2. Human Resource Management
3. Production Management
4. Financial Management
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 63238615761
Option 11D : 63238663041
Option 2 ID : 63238663042
Option 31D : 63238663043
Option 4 ID : 63238663044

Status : Answered

Chosen Option : 2

Q8 Arrange the steps of Controlling process in a logical sequence.

A. Measurement of Actual performance

B. Setting performance standards

C. Taking Corrective action

D. Comparison of actual performance with standards
E. Analysing deviations

Choose the correct answer from the options given below:
1:B.A;D,E, C
2.C,D.A,B.E
3.A.B.C.D.E
4.C.E,D.B.A
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 63238615760
Option 11D : 63238663037
Option 2 1D : 63238663038
Option 31D : 63238663039
Option 4 1D : 63238663040

Status : Answered
Chosen Option : 1




Q9 The primary aim of financial management is :-
1. Maximise profit of firm
2. Maximise sales of firm
3. Maximise shareholders’ wealth

4. Maximise number of customer of firm

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615778
Option 11D : 63238663109
Option 2 ID : 63238663110
Option 31D : 63238663111
Option 4 ID : 63238663112
Status : Not Answered
Chosen Option : --
Q.10 Match List I with List IT
LISTI LISTII
A. |Advertising Expenditure | 1. [Human Resource Management
B. |Quality I1. [Finance and Accounting
C. |[Labour Turnover 1II. [Marketing
D. [Liquidity IV. |Production
Choose the correct answer from the options given below:
1. A-IIL, B-IV, C-II. D-I
2. A-IIL B-1V, C-1, D-II
3. A-IV. B-III. C-II. D-I
4. A-IV, B-III. C-1. D-II
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615771
Option 11D : 63238663081
Option 2 ID : 63238663082
Option 31D : 63238663083
Option 4 ID : 63238663084
Status : Answered
Chosen Option : 2




What nature of principles of management has been indicated in above statement?
1. General guidelines
2. Flexible
3. Contingent

4, Mainly behavioural

Q.11 "The principles of management are not rigid prescriptions, these can be modificd by the manager when the situation so demands.”

Chosen Option :

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615774
Option 11D : 63238663093
Option 2 ID : 63238663094
Option 3 ID : 63238663095
Option 4 ID : 63238663096
Status : Not Answered
Chosen Option : --
Q.12 Social Environment includes:
1. Consumption habits and life expectancies
2. Money supply in the economy
3. Rate of savings
4. New ways of producing goods
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615751
Option 1 1D : 63238663001
Option 2 ID : 63238663002
Option 3 ID : 63238663003
Option 4 ID : 63238663004
Status : Answered

1




Q.13 Identify the specific forces of Business Environment from following

A. Investors
B. Customers
C. Social

D. Political

E. Competitors

Choose the correct answer from the options given below:
1.A.B.Cand D only
2. A.Band E only
3. Cand D only

4. C,D and E only

Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status
Chosen Option

MCcQ

163238615785
163238663137

63238663138

163238663139
: 63238663140
: Answered

12




Q.14 Match List I with List IT

LISTI LISTII

A Bk Bt I Ind1c§tes the chare_acte_nsncs which
describe an organisation

B. Orgamsanonal II. [Informal Communication
Climate
C. |Laissez -faire 111 [Leadership Style
B \empedne . [Concerned with designing jobs that

" linclude greater variety of work content

Choose the correct answer from the options given below:
1. A-IIL, B-IV, C-II, D-I
2. A-IIL, B-IV, C-I, D-II
3. A-IV, B-1II, C-III, D-I
4. A-IV, B-1, C-III, D-II
Options 1. 1
2.2

3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615756
63238663021
63238663022
63238663023
63238663024
Answered

4




Q.15 Match List I with List IT

SEBI

LISTI LISTII
Al IRegulatory Function of SEBI | L Leiryingfox poto
charges
i | levclopmenkBanadomat’ |55 be 5 o rendinites

C. [Protective Function of SEBI

111

Controlling insider training

D

_ |Objective of SEBI

IV.

Regulate stock exchanges

Options 1. 1
2.2
3.3
4.4

1. A-I, B-II, C-IV, D-IIT
2. A-1, B-II, C-III, D-IV
3. A-IIL, B-1II, C-IV, D-I

4. A-II1, B-1. C-II, D-IV

Choose the correct answer from the options given below:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615781
63238663121
63238663122
63238663123
63238663124
Answered

2




Q.16 Identify the market that is known as Stock Exchange
1. Secondary Market
2. Money Market
3. Capital Market

4. Primary Market

1. Measurement of actual performance

2. Comparing actual performance with standards
3. Analysing deviations

4. Taking Corrective action

Options 1. 1

2.2
3.3
4.4

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615757
Option 11D : 63238663025
Option 2 ID : 63238663026
Option 3 ID : 63238663027
Option 4 1D : 63238663028
Status : Answered
Chosen Option : 2
Q.17 A comy hfn pl ‘their bsol t hi y\\itthi-T.echmchineasit could not achieve its target in the previous month due to
slow production process. Which step in the process of lling is d by the pany?

Question Type : MCQ
Question ID : 63238615772
Option 11D : 63238663085
Option 2 ID : 63238663086
Option 31D : 63238663087
Option 4 1D : 63238663088

Status : Answered

Chosen Option : 4




Q.18 Identify the rights provided to consumers by the Consumer Protection Act 2019

A. Right to Safety

B. Right to be Informed

C. Right to choose

D. Right to be heard

E. Right to be assured

Choose the correct answer from the options given below:

1. A, B, C and D only

2.A.B, CandE only

3.A.B.DandE only

4. A, B and C only

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

MCQ
63238615748
63238662989
63238662990
63238662991
63238662992
Answered

1




A. Sender
B. Recetver
C. Message
D. Media

E. Feedback

1A €. BB, D
2.CAB D E
3.AGCDBE

4. A.C.B.D.E

Choose the correct answer from the options given below:

Q.19 Arrange following elements of communication process in a sequence

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615780
Option 11D : 63238663117
Option 21D : 63238663118
Option 31D : 63238663119
Option 4 1D : 63238663120
Status : Not Answered
Chosen Option : --
Q.20 'Dependence on technological gadgets i ively higher in America than in India”. Which feature of business cnvironment is
highlighted by the statement?
1. Relativity
2. Uncertainity
3. Complexity
4. Dynamic
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615783
63238663129
63238663130
63238663131
63238663132
Answered

1




Q.21 Which technique of Scientific Management violates Unity of Command?
1. Time study
2. Standardisation of work
3. Functional Foremenship

4. Simplification of work
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615767
Option 11D : 63238663065
Option 2 ID : 63238663066
Option 31D : 63238663067
Option 4 1D : 63238663068

Status : Answered

Chosen Option : 3

Q.22 Identify the trend in stock market when equity shares are more easily sold even at higher price
1. Bearish
2. Bullish
3. Horse trading

4. Badla
Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615784
Option 11D : 63238663133
Option 2 ID : 63238663134
Option 3 ID : 63238663135
Option 4 ID : 63238663136

Status : Answered

Chosen Option : 2




Q.23 Which of the following are the features of leadership

A. Tt tries to bring change in the behaviour of a person
B. It is an internal feeling

D. It is a continuous process
Choose the correct answer from the options given below:
1. A.Cand D only
2. Aand C only

3.A.Band D only

C. It indicates interpersonal relationship between leaders and followers

Chosen Option :

4. C and D only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615776
Option 11D : 63238663101
Option 2 1D : 63238663102
Option 31D : 63238663103
Option 4 1D : 63238663104
Status : Not Answered
Chosen Option : --
Q.24 Which quality of a leader requires that he should understand people and maimain good human relations with them
1. Initiatrve
2. Communication skills
3. Integrity
4. Social Skills
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615777
Option 11D : 63238663105
Option 2 ID : 63238663106
Option 31D : 63238663107
Option 4 1D : 63238663108
Status : Not Answered




A. Open a demat account

B. Place an order with the broker

C. Sign a broker-client agreement

D. Broker match the share price available
E. Broker issue a trade confirmation slip

1.A.B.C.D.E
2.E.D,C,B.A
3.C,A.B.D.E

4.C.A,D,B.E
Options 1. 1
2.2
3.3
4.4

Choose the correct answer from the options given below:

Q25 Arrange the steps of Trading and Settlement procedure in Securities

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ

63238615763
63238663049
63238663050
63238663051
63238663052
Not Answered

diction to entertain

Q 26 As per Consumer Protection Act, 2019, State
as consideration:-

has a jurt
1. Does not exceed onc erore but more than 20 lakh mapees
2. Exceeds one crore but does not exceed ten crore rupees

3. Excecds five crore but does not exceed ten crore rupees
4. Exceeds four crore but does not exceed five crores rupees
Options 1. 1

2.2
3.3
4.4

where value of goods and services paid

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615768
63238663069
63238663070
63238663071
63238663072
Answered

2




Q.27 Process which provides for learning opportunities that helps employee growth is-
1. Education
2. Development
3. Training

4. Education and Training

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615758
Option 11D : 63238663029
Option 2 ID : 63238663030
Option 31D : 63238663031
Option 4 1D : 63238663032
Status : Not Answered
Chosen Option : --
Q.28 Salary is not a primary economic reward for an entrepreneur
A. A 'never say die' attitude of an entrepreneur is termed as self-confidence.
B. Acting out of choice rather than compulsion is initiative
C. Entrepreneur's concern for conservation of time and money is termed as 'assertiveness’
D. Executive summary and operation strategies are included in Business Plan
Choose the correct answer from the option given below:
1. A, C.E only
2.A,B.E only
3.A.D.E only
4. A, B, Conly
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615764
Option 11D : 63238663053
Option 2 ID : 63238663054
Option 3 1D : 63238663055
Option 4 1D : 63238663056
Status : Not Answered
Chosen Option : --




Q.29 Which clement of Marketing Mix refers to activitics that make firm's product available to the target customers?
1. Promotion
2. Place
3. Price

4. Product
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615753
Option 11D : 63238663009
Option 2 1D : 63238663010
Option 31D : 63238663011
Option 4 1D : 63238663012

Status : Answered

Chosen Option : 2

Q.30 Which Marketing Management philosophy has main focus on existing product?
1. Selling concept
2. Production concept
3. Product concept

4. Marketing concept
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615769
Option 11D : 63238663073
Option 2 ID : 63238663074
Option 31D : 63238663075
Option 4 1D : 63238663076

Status : Answered

Chosen Option : 2




B. Recruitment

E. Selection

1.A,B,D.C.E
2.A.B.C,D.E
3.A.B.E.D,C

4. A.C.B.D.E
Options 1. 1
2.2
3.3
4.4

A. Estimating the manpower requirement

C. Training and development
D. Placement and orientation

Choose the correct answer from the options given below:

Q.31 Identify the correct sequence of first five steps of staffing process:-

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615765
63238663057
63238663058
63238663059
63238663060
Answered

3




Q.32 Match List I with List IT

LISTI

LISTII

. [Convenience products | 1.

[Consumed in one or few uses

Shopping products 11

Brand lovality of the highest order

Speciality products I11. |Purchased frequently

o|o|w|»

. [Non durable products | IV, [Buvers devote considerable time

Options 1. 1
2.2
3.3
4.4

1. A-IIL, B-IV, C-II, D-I
2. A-IIL, B-II, C-IV, D-I

3. A-IV, B-III, C-II, D-I

4. A-L, B-1I, C-III, D-IV

Choose the correct answer from the options given below:

Question Type :
Question ID :

Option 1 ID

Option 3 ID
Option 4 ID
Status

McCQ
63238615762

: 63238663045
Option 21D :

63238663046

: 63238663047
: 63238663048
: Not Answered
Chosen Option :




Q33 Arrange the following functions of Management

A. Staffing

B. Planning
C. Organizing
D. Controlling
E. Directing

Choose the correct answer from the options given below:
1. A-»B—»C—D—E
2.B-C—-A—E—D
3.C—=B—A—-D—E
4. B—-C—-A—-D—-E
Options 1. 1
2.2

3.3
4.4

Question Type:
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
63238615782
63238663125
63238663126
63238663127
63238663128
Answered

2




Q.34 External Sources of recruitment does not include

A. Casual callers

B. Employment exchange
C. Transfer

D. Advertising

E. Promotions

Choose the correct answer from the options given below:

1. Aand B only
2.B and C only
3.Cand E only
4.D and E only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615770
Option 11D : 63238663077
Option 2 ID : 63238663078
Option 31D : 63238663079
Option 4 ID : 63238663080
Status : Answered
Chosen Option : 3
Q.35 refers to vertical shifting of employees in an organisation

1. Promotion
2. Transfer
3. Interview

4. Placement
Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615750
Option 11D : 63238662997
Option 2 ID : 63238662998
Option 3 1D : 63238662999
Option 4 1D : 63238663000

Status : Answered

Chosen Option : 1




Q.36 Identify for the following under whose overall administrative control, SEBI functions
1. Ministry of Corporate Affairs. GOI
2. Ministry of Home Affairs, GOI
3. Ministry of Finance, GOI

4. Ministry of External Affairs, GOI
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615779
Option 11D : 63238663113
Option 2 ID : 63238663114
Option 31D : 63238663115
Option 4 1D : 63238663116

Status : Answered
Chosen Option : 1

Q.37 According to which principle of management. "Organisation should have a chain of authority and communicarion that runs from top to
bottom and should be followed by gers and the subordi p

1. Centralisation and Decentralisation

2, Subordination of individual interest to general interest
3, Scalar chain

4. Espirit De Corps

Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615786
Option 11D : 63238663141
Option 2 ID : 63238663142
Option 31D : 63238663143
Option 4 ID : 63238663144

Status : Answered

Chosen Option: 3




statement?

1. Futuristic

2. Continnous

3. Mental exercise

1. Pervasive

Q.38 Planning is an intellectual process that requires logic rather than wishful thinking, Which feature of planning is highlighted by the

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615759
Option 11D : 63238663033
Option 2 ID : 63238663034
Option 31D : 63238663035
Option 4 ID : 63238663036
Status : Answered
Chosen Option: 3
Q.39 Match List I with List IT
LISTI LISTII
[District
A 2 L IOne crore to Ten crore rupees
Commission
s [Appeal against National Commission in
B. [State Commission] I1. [ PP £ = =t
|matter of its original jurisdiction.
[National .
C- S II1. [Upto one crore rupees
|Commaission
D. |Supreme Court | IV. |[Exceeds Ten crore rupees
Choose the correct answer from the options given below:
1. A-I, B-II. C-IIL. D-IV
2. A-IV. B-III. C-II. D-I
3. A-III, B-1. C-IV, D-II
4. A-IIL B-1. C-IL. D-IV
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615754
Option 11D : 63238663013
Option 21D : 63238663014
Option 31D : 63238663015
Option 41D : 63238663016
Status : Answered
Chosen Option : 4




A. Consumer
B. Retailer

D. Producer

1.A,B.C.D
2.D.C.B.A
3.C.A,B.D

4 A.D.C.B
Options 1. 1
2.2
3.3
4.4

C. Wholesaler

Choose the correct answer from the option given below:

Q.40 Arrange the Channels of Distribution in order for a consumer product

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
63238615775
63238663097
63238663098
63238663099
63238663100
Answered

2




Q.41 Rohan is the Head Boy of Ethos Public School school. The School is going to hold a covid vaccination camp for students of age group 12-
14 yrs in the month of May. The entire Prefectorial Board is given the dutics for the event under the leadership of Rohan. Rohan has
shorlisted following activities:

1. Identification of stud cligible for ination under 12-14 yrs.
2. Obtaining Aadhar card for registration of these students on the covid vaceination App
3. Consent letters of parents

He further divided the execution part activitics. Later he grouped the similar natured activities into different units. Then he allocated these
to different prefects under his prefectorial board. Thereafter he devised a computer software where each prefect was supposed to enter his
data of vaccination for further submission to school headmistress.

is the function of management discussed in the above passage
1. Planning
2. Directing
3. Organising

4. Staffing
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615788
63238663149
63238663150
63238663151
63238663152
Answered

3




Q.42 Rohan is the Head Boy of Ethos Public School school. The School is going to hold a covid vaccination camp for students of age group 12-
14 yrs in the month of May. The entire Prefectorial Board is given the dutics for the event under the leadership of Rohan. Rohan has
shorlisted following activities:

1. Identification of stud cligible for ination under 12-14 yrs.
2. Obtaining Aadhar card for registration of these students on the covid vaceination App
3. Consent letters of parents

He further divided the execution part activitics. Later he grouped the similar natured activities into different units. Then he allocated these
to different prefects under his prefectorial board. Thereafter he devised a computer software where each prefect was supposed to enter his
data of vaccination for further submission to school headmistress.

Rohan has shortlisted following activities”
Identify the step highlighted in the above line in the process of organisation
1. Setting objectives
2. Assignment of duties
3. Identifying the alternative courses of action
4. Identification and division of work
Options 1. 1
2.2

3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615789
63238663153
63238663154
63238663155
63238663156
Answered

4




Q.43 Rohan is the Head Boy of Ethos Public School school. The School is going to hold a covid vaccination camp for students of age group 12-
14 yrs in the month of May. The entire Prefectorial Board is given the dutics for the event under the leadership of Rohan. Rohan has
shorlisted following activities:

1. Identification of stud cligible for ination under 12-14 yrs.
2. Obtaining Aadhar card for registration of these students on the covid vaceination App
3. Consent letters of parents

He further divided the execution part activities. Later he grouped the similar natured activities into different units. Then he allocated these
to different prefects under his prefectorial board. Thereafter he devised a computer software where each prefect was supposed to enter his
data of vaccination for further submission to school headmistress.

"Later he grouped the similar natured activities into different units"
Identify the step highlighted in the above line in the organisation process
1. Implementing the plan
2. Measurement of actual performance
3. Departmentalisation

4. Selecting an alternative
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
63238615790
63238663157
63238663158
63238663159
63238663160
Answered

3




Q.44 Rohan is the Head Boy of Ethos Public School school. The School is going to hold a covid vaccination camp for students of age group 12-
14 yrs in the month of May. The entire Prefectorial Board is given the dutics for the event under the leadership of Rohan. Rohan has
shorlisted following activities:

1. Identification of stud cligible for ination under 12-14 yrs.
2. Obtaining Aadhar card for registration of these students on the covid vaceination App
3. Consent letters of parents

He further divided the execution part activities. Later he grouped the similar natured activities into different units. Then he allocated these
to different prefects under his prefectorial board. Thereafter he devised a computer software where each prefect was supposed to enter his
data of vaccination for further submission to school headmistress.

"Then he allocated these to different prefects under his prefectorial board”
Which step of organisation process is discussed in these lines?

1. Assignment of duties

2. Implementing the plan

3. Division of activities

4. Follow up action
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
63238615791
63238663161
63238663162
63238663163
63238663164
Answered

1




Q.45 Rohan is the Head Boy of Ethos Public School school. The School is going to hold a covid vaccination camp for students of age group 12-
14 yrs in the month of May. The entire Prefectorial Board is given the dutics for the event under the leadership of Rohan. Rohan has
shorlisted following activities:

1. Identification of stud cligible for ination under 12-14 yrs.
2. Obtaining Aadhar card for registration of these students on the covid vaceination App
3. Consent letters of parents

He further divided the execution part activities. Later he grouped the similar natured activities into different units. Then he allocated these
to different prefects under his prefectorial board. Thereafter he devised a computer software where each prefect was supposed to enter his
data of vaccination for further submission to school headmistress.

"Thereafter he devised a computer software where each prefect was supposed 10 enter his data of vaccination for further submission to
school headmistress”,

Identify the step of organisation process di d in above
1. Follow up action
2. Establishing reporting relationship
3. Corrective action

4. Assignment of dutics
Options 1. 1

2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615792
Option 11D : 63238663165
Option 2 ID : 63238663166
Option 31D : 63238663167
Option 4 ID : 63238663168
Status : Answered
Chosen Option : 2
Q.46 Management is the process of planni ising. staffing, directing and controlling the enterprise resources efficienty and effectively

for achieving the goals of the m\g;anisa:im. Effectiveness in Management is concerned with doine the right task, completing activitics and
achieving goals. Efficiency means doing the task correctly with minimum cost.

Answer the following questions on the basis of above case.

Company's target production is 10,000 units in a year, To achieve this target the manager has to operate on double shifts due to power
failure most of the time.

In the above case manager was:
1. Effective and cfficient both
2. Only efficient
3. Efficient but not effective

4. Effective but not so cfficient
Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615793
Option 11D : 63238663169
Option 2 1D : 63238663170
Option 31D : 63238663171
Option 41D : 63238663172

Status : Answered

Chosen Option : 4




Q.47 Management is the process of planni is1 smmng 1g and controlling the enterprise resources efficiently and effectively
for achieving the goals of the m\zamsatlon Effectiveness in Manaeemcm is concerned with doing the right task. completing activitics and
achieving goals. Efficiency means doing the task correctly with minimum cost.

Answer the following questions on the basis of above case.

Cutting down the cost but not achieving the target production is an example of:
1. Effective but not efficient
2. Effective and efficient both
3. Efficient but not effective

4. Neither efficient nor effective

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615794
Option 11D : 63238663173
Option 2 1D : 63238663174
Option 31D : 63238663175
Option 41D : 63238663176
Status : Answered
Chosen Option: 3
Q.48 Management is the process of planning ising. staffing, directing and controlling the enterprise resources efficienty and effectively

for achicving the goals of the organisation, Effectivencss in Management is concerned with doing the right task. completing activitics and
achieving goals. Efficiency means doing the task correctly with minimum cost.

Answer the following questions on the basis of above case.
implics sctting goals in advance and developing a way of achicving them cfficiently and cffectively
1. Organising
2. Controlling
3. Planning

4. Coordination
Options 1. 1

2.2
3.3
4.4

Question Type : MCQ
Question ID : 63238615795
Option 11D : 63238663177
Option 2 1D : 63238663178
Option 31D : 63238663179
Option 4 1D : 63238663180

Status : Answered

Chosen Option : 3




Q.49 Management is the process of pl smmng 1g and controlling the enterprise resources efficiently and effectively
. for achieving the zoals of the m\eamsatlon Effectiveness in Manaeemcm is concerned with doing the right task. completing activitics and
achieving goals. Efficiency means doing the task correctly with minimum cost.
Answer the following questions on the basis of above case.
is the manag function of toring org [ performance towards the attainment of organisational goals
1. Planning
2, Organising
3. Directing
4. Controlling
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615796
Option 11D : 63238663181
Option 2 1D : 63238663182
Option 31D : 63238663183
Option 4 1D : 63238663184
Status : Answered
Chosen Option : 4
Q.50 Management is the process of planni is1 smﬁng di 1g and controlling the enterprise resources efficiently and effectively
. for achicving the oals of the omamsatlon Eff:ctl\ eness in Manaeemcm is concerned with doing the right task. completing activitics and
achieving goals. Efficiency means doing the task correctly with minimum cost.
Answer the following questions on the basis of above case.
determines what activities and resources are required.
1. Planning
2. Organising
3. Controlling
4. Directing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 63238615797
Option 11D : 63238663185
Option 2 ID : 63238663186
Option 31D : 63238663187
Option 4 1D : 63238663188
Status : Not Answered
Chosen Option : --
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